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C-35

P=  10.000 T= 15000. NTOT=4.89E 18 DEBYE=8.65E-07 LAMBDA=3.11F Ol LNL4BD= 3.44
N1=S.55111F 17 N2=2.S82T8F 18 N3=G.55089E 17 N4=1.14673F 13 N
B CM=TAU S16-1 SIG=2 DT-1 DT-2 LAM-1 LAM-2
0. 0.0CE-Cl1 8.65E 01 0.COE-O01  3.41E-07 0.00E-C1 1.52E 01 0.CCE-O01
500. =2.ClE-C3 B8.65F 01 2.76E-01  3.41E-07 1.59E-09 1.52E 01 3.45E-02
10C0. ~-4.C2E=C3 B8.65E 01 5.52E-01  3.4lE-07  3.1BE-09 1.52E 01 6.89E-02
2500. -1.C1E-02 8.65F Cl 1.38F 00  3.41E-07  7.96E-09 1.52E 01 1.72E-01
5000. =-2.C1E-C2 8.64E 01 2.76E 00  3.40E-07 1.59E-08 1.52E 0l 3.44E-0l
7500, =3.02E-C2 B8.63E O1 4.13E 00 3.39E-07 2.38E-08 1.52E 21 5.16E-01
10000. =-4.C2E-C2 B8.62E O1 5.495 00  3.386-07 3.17E-08 1.52E C1 6.87E-01
25000. ~-1.01E-C1 B8.43E 01 1.34E 0l  3,26E-07  7.68E-08 1.50F 01 1.70E 00
50000. =-2.C1E=C1 7.83F Ol 2.48E 01  2.86E-07  L1.39E-07 1.44E 01 3.24E 00
L00CN0. =-4.C2E-C1 6.14F Ol 3.83E €1  1.80E-07  1.96E-07 1.25FE Ol 5.52E 00
15C000C. =-6.C3E-C1 4.58E 01 4.18E Ol  9.47E-08  1.93E-07 1.04E 01 6.66E 00
P=  10.000 T= 1606C. NTOT=4.59E 18 DEBYE=7.86E-07 LAMBDA=3.01E 01 LNLMBD= 3,40
N1=1.23411F 18 N2=2.1190CE 18 N3=1.23402E 18 N4=4.92156E 13 N
8 CM=TAL SIG-1 SIG-2 DT-1 DT-2 LAM-1 LAM=2
0. O0.00E-01 S.S5E 01 0.00E-01  4.44E-07 0.00E-01 1.92E 01 0.00E-0l
500. =1.75E-C3 9.95FE Ol 2.856-Cl  4.44E=07 1.89E-09 1.92E 01 4.06E-Q2
1CC0. =-3.51E-03 9.G5F 01 5.705-01  4.44E-07 3.79E-09 1.92E 01 8.11£-02
25170. -8.77E-C2 9.55F 01 1.43E CO  4.44E-07  9.46E-09 1.92E 01 2,03E-01
£0C0. =-1.75E-C2 9.94F O1 2.85E 00  4.43E-07  1.89E-08 1.92E 01 4.05E-01
1500, =2.£3E-C2 S.93E 01 4.27E 00  4.42E-07 2.83E-08 1.92F 01 6.08E-01
10000. =-3.51E-02 9.91FE 01 5.68E 00 4.4l1E-07  3.77E-08 1.92FE 01 8.10E-01
250C0. =-8.77E-C2 9.74E 01 1.39E 01  4.27E-07  9.18E-08 1.90E 01 2.00F 00
50000. =-1.75E-C1 9.17E Ol 2.61E €1  3.83E-07 1.68E=07 1.84E 01 3.85E 00
1CC0C0. =3.51E-C1 7T.46E O1 4.18E 01  2.58E-07  2.49E=07 1.62E 01 6.67€ 0O
150000, =5.26E-C1 5.77E 01 4.75E 01  1.49E-07 2.56E=07 1.36E C1 8.21F 00
F=  10.000 T= 17000. NTOT=4.22E 18 DEBYE=7.46E-07 LAMBDA=3.03E 01 LNLMBD= 3,41
N1=1.45636E 18 N2=1.40480E 18 N3=1.45601F 18 N4=1.T6704E 14 N5=9.91286E 05
B CM-T AU SI1G6-1 SI1G-2 DT-1 DT-2 LAM-1 LAM=2
0. O0.CCE-Cl1 1.11F 02 0.00E-01 5.50E-07 0.C00E-01 2.33E 01 0.00E-01
500. -1.64E-C3 1.11E 02 3.05E-01 5.50E-07 2.27E-09 2.33E 01 4,80E-02
16C0. =-3.28E-C3 1.11E 02 6.10E-01  5.50E-07  4.53E=09 2.33F 01 9.61E-02
2500. -8.19E-03 1.11FE 02 1.52FE 00 5.50E-07 1.13E-08 2.33E 01 2.40E-01
5000. -l.64E-02 1.11FE 02 3.05E 00 5.50E-07 2.26E-08 2.33E 01 4.80E-01
7500. -2.46E-02 1.11E 02 4.56E 00 5.49E-07  3.39€-08 2.33E 01 7.20E-01
10000. -3.28E-02 1.11F 02 6.07E 00 5.47E-07 4.51E-08 2.33E 01 9.59E-01
25000, -8.1GE-C2 1.09FE 02 1.49€ 01 5.31E-07 1.10E-07. 2.30E 01 2.37E 00
50000. -1.64E-C1 1.03F 02 2.81E 01  4.79E-07 2.03E-07 2.23E 01 4.57E 00
1C00C0. =3.28E-01 B8.53F 01 4.56E 01  3.31E-07  3.056=07 1.97€ 01 7.95F 00
150000, -4.S1E-C1 6.69E 01 5.25E 01 1.97E-07 3.1BE-NT 1.67E 01 9.85E 00
P=  10.000 T= 18000. NTOT=4.08E 18 DEBYE=7.32E-07 LAMBDA=3.15E Ol LNLMBD= 3.45
N1=1.59954E 18 N2=8.78960F 17 N3=1.59845E 18 N&4=5.47027E 14 NS5=1.44117E 07
B CM-TAU SI1G-1 SIG-2 DT-1 DT=-2 LAM-1 LAM-2
0. 0.CCE-01 1.22F 02 0.00E-01  6.5TE=07 0.00E-01 2.73E 01 0.00E-01
500. =1.61E-C3 1.22E 02 3.35E-01  6.57E-07  2.73E-09 2.73E Ol 5.72E-02
1000. =3.22E-03 1.22F 02 6.69E=01  6.576-07 5.46E-09 2.73E 01 1.14E-01
2500, =-8.C6E-C3 1.22E 02 1.67E 00 6.57E-07 1.36E-08 2.73E 01 2.86E-01
5000. =-1.61E-C2 1.22E 02 3.34E 00 6.56E-07 2.73E-08 2.73E 01 5.72E-01
1500, =-2.42E-C2 1.22E 02 5.01E 00 6.55E-07 4.08E-08 2.73E Ol 8.57E-01
10000. =3.22E-02 1.21FE 02 6.67E 00 6.53E=07  5.43E-08 2.72E Ol l.14E 00
25000, <-8.C6E-C2 1.19E 02 1.64E 01  6.33E-07 1.32E-07 2.70E 01 2.82F 00
50000. -1.61E=01 1.13E 02 3.08FE 01  5.70E-07 2.44E-07 2.60E Ol 5.43E CO
100000. =3.22E-01 9.32E O1 4.99E 01  3.92E-07  3.65E-07 2.3CE 01 9.42F 00
150000, =-4.83E=C1 7.32E 01 5.74E 01  2.31E-07  3.78E-07 1.94E 01 1.16E 01




C-36
NTOT=2,86E 18 DEBYE=7.39E-07 LAMBDA=3,36E 01 LNLMBD= 3,51

N1=1,65€65C0E 18 N2=5.47382E 17 N3=1.65551FE 18 N4=1.49615F 15 N5=1.63773E 08

F= 10.000 T= 19000.
B aM-TAU SIG-1
O. O.CCE-Ol 1'31E
500. -10655‘03 1s31E
1000. =3.31E-03 1.31E
25(0. -8021E-03 1.31E
5000, <-1.65E-02 1.31E
7500. -20485-62 13 1E
10000. =-3.31E-C2 1.30E
25000s =8.2TE=02  1.28E
50000. =1.65E-01 1.21E
1600C0. =3.31E-01 9.83E
150000. =-4.96E-01 7.63E

P= 10.000 T= 20000.
B CM-TAU SIG-1
O O-CCE-CI 1.39E
500. ‘1-745-03 1.39E
1000. =3.47E-03 1.39E
2500. =-8.69E-C3 1.39E
5000, =-l.74E-C2 1.3SE
1500  =2.61E=C2 1.39E
10000. ‘3.47E-02 1.39E
25000. -8.69E-02 1.36E
500€0. -1.174E-C1 1.27E
100000. =-3.47E-C1 1.0lE
1500C0. =5.21E-01 7T.74E

P= 10.000 T= 21000.
8 CM-TAU Sic=1
0. 0.CCE-Cl 1.46E
500 —1l.84E-C3 1.46E
1000. =3.69E-03 1.46E
25C0. —9.21E-C3 1.46E
50000 -10845-02 1046E
7500. =2.76E-C2 1l.46E
10€00. =-3.69E-C2 1.46E
25000. =-9.21E-02 1.42E
50000, -1.84E-Cl1 1.322E
100000. ‘3oegE-01 1.03E
150000, =5.53E-C1 7.69E

P= 10.000 T= 220C0.

B
0.
5C0.
10C0.
25C0.
50C0.
75C0.
100C0.
25000.
50000.
1000Q00.
150000.

CM-TAU
0.00E-C1
-1.S6E-C3
-3.G2E-C3
-9.79E-C3
-lagéE-OZ
-20945-02
-3.52E-02
-9.7GE=-02
-1.96E-C1
-3.52E-01
=5+ 8TE=C1

SIG-1

1553E
1.53E
1.53E
1.52E
1.53E
1.52E
1.52E
1.48E
1.36E
1.03E
7.55E

02
02
02
02
0z

02
02
0z
02
92
02
02
0z
02
02
01

02
02
0z
g2
02
02
02
0z
02
02
01

02
02
0z
02
02
0z
02
0z
02
02
01

SIG-2
0.00E-01
3.74E-01
7.48E-01
1.87E 00
3.74E 00
5.60E 0O
7.45E Q0
1.83E 01
3.42E C1
5.46E 01
6.19E 01

SIG=¢
0.00E-01
4.22E_01
8.44E-01
2.11E 00
4.,21E 00
6.31E 00
8.40E 00
2.05E 01
3.81E 01
5.95E 01
6 .62E O1

SIG-2
0.00E-01
4.75E-01
9 .50E-01
2.37E 00
4.7T4E 00
7.11E 00
9.45E 00
2.30E 01
4.23E 01
6.43E 01
6.99E 01

SIG-2
0.00E-01
5.30E-C1
1.06E 00
2.65E 00
5.30E 00
7.93E 00
1.05€ 01
2.56E 01
4.65E 01
6.87E 01
7.28E 01

DE~1
T+s59E=07
T+59E-07
T.59E=07
T.58E-07
T.57E-07
T<56E-07
Te54E=-07
Te29E=07
60505-07
4.34E-07
2.48E-07

D=1
8.60E-07
8. 60E-07
B+ 60E-07
8.59E-07
8.58E-07
8.56E-07
8.54E-07
8.22E-07
T.23E-07
4,61E-07
2.49E-07

DF=1
9.58E-07
9.58E-07
9. 58E=07
9.58E-07
9+.56E-07
9.54E-07
9« S0E-07
9.11E-07
T.87TE-07
4.755-07
2.40E-07

DT-1
1. C5E-06
1,05E-06
1.05E-06
1.05E-06
1.05E-06
10055-06
1.04E-06
9.95E-07
8.42E-N7
4, T9E=-07
2.25E=07

DT=2
0.00E-01
3.29E-09
6.58E-09
1l.64E-08
3.29E-08
4.925-08
6.55E-08
L 59E=07.
2, 91E=07
4.26F-07
4.32E-07

D=2
0.COE-D1
3.96E~-C9
T1.93E-09
1.98E-08
3.96E-08
5.93E-08
T.88E-08
1.915-07
3.45E-07
4. 89E~-07
4.82E-07

0T=2

0.C0E-0C1
4. T3E-09
9+ 46E-09
2.36E-08
4.T2E-08
7.07E-08
9.40E-08
2,2TE-07
4-04E-07
5.51E-07
5.24E-C7

DT-2
0.00E-01
1.12E-08
2. T79E-08
5.57TE~-08
8.33E-08
1.11E-07
2.66E—07
4.66E-07
6.10E=-G7
S5«60E-07

LAM~-1

3.11E
3.11E
3.11E
AallE
3.11€
3.11E
3.10E
3.07E
2.,95F
2.58F
2.15E

NTOT=3,67E 18 DEBYE=7.56E-C7 LAMBDA=3.62E Ol

LAM-1

3.49E
3.49F
3,49E
3 .49E
3.49E
3.48E
3 .48E
3.44E
3.29E
2.83€
2.33E

NTOT=2.49E 18 DEBYE=7.80E-07 LAMBDA=3,92E 01

LAM=-1

3.86E
3.86E
3.86E
3.86E
3.86E
3.85E
3.85E
3209k
3.61E
3.05E
2.46E

NTOT=2,34E 18 DEBYE=8.08E-07 LAMBDA=4.26E 01

LAM-1

4,23E
4.23E
4.,23E
4.22E
4.22E
4,22E
4.21E
4 ,14E
3.92E
3.24E
2.56E

01
01
01
01
0l
01
01
01
0l
01
01

LAM=~-2
J.00E-01
6 .83E-02
1.37E-01
3.41E-01
6.83E-01
1.02E 20
1.36E 0O
3,37 00
6.45F 00
1o11E 01
1.34E 01

LNLMBD= 3,59
N1=1.66620E 18 N2=3.,41041FE 17 N3=1.65881E 18 N4=3,69424E 15 N5=1.49683E 09

01
21
01
0l
01
01
01
01
01
ol
01

LAM-2
0.,00E-01
8.16E-02
1.63E-01
4.08E-01
B.16E-01
1.22E 02
1.63E 00
4.01E 00
T.65E 00
1.29E 01
1.54E 01

LNLMBD= 3,67
N1=1.€4243F 1€ N2=2.18492E 17 N3=1.62572E 18 N4=8.35686E 15 N5=1.12938E 10

LAM=-2
0.00E-01
9.68E=02
1.94E-01
4.84&'01
9.,6TE-01
1.45€E 00
1.93E 00
4.75E 00
8.99E 00
1.48E 01
1,73 01

LNLMBD= 2.75
N1=1.60401E 18 N2=1.4560T7E 17 N3=1.56903E 18 N4=1,74921FE 16 N5=7.17008E 10

0l
01
01
01
C1
01
ol
01
01
01
0l

LAM=-2
0.00E-01
lL.14E-01
2.28E-01
5.69E-01
1.14E 00
1.70F 00
2.27E 00
5.57E 00
1.05€ 01
1.68€ 01
1.92F 01

S —————



